m Measures of Center & Variation
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Extra Practice
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1. Consider the data set:

a. Find the mean, median, and mode of the data set.
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b. Determine which measure of center best represents the data. Explain.
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2. The table shows the masses of eight gorillas.
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a. Identify the outlier. How does the outlier affect the mean, median, and mode?
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b. Describe one possible explanation for the outlier.
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3. The heights of the members of two girls’ basketball teams are shown. Find the range of the

heights for each team. Compare your results. — }-ws\'\ il ‘,OW
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4.Consider the same data set

Team A Heights (inches)
58 75 60 48 56 78 60 57 54 59

Team B Heights (inches)
49 50 70 56 58 66 64 57 62 63

a. Finish finding the standard deviation of the heights of Team A. Interpret your result.
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b. Find the standard deviation of the heights of Team B. Interpret your result.
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c. Compare the standard deviations for Team A and Team B. What can you conclude?
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